[image: image1.png]Savannah Machine Tool Company has an automated production process, and production activity is
uantifcd in erms of machine hours. 1 ses standard-<osting sytem. The annual st budget for
206 called for 6000 units to be produced. equiring 30,000 machine hours. The standard-overhead
ot for the year was computed using this planned level of production. The 2056 manufacturing cost
report follows.
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'SAVANNAH MACHINETOOL COMPANY

Manufacturing Cost Report

For theYear 2016
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Savannah Machine Tool Company devclopsflesible budgets or diferent levelsof activity for s
in cvaluaing performance. It produced a otal of 6,200 units during 2056, requiring 32,000 machine
our. The preceding manufacturing cost report cormpare the company’ atual costfr the year with

the st budaetand he fesible budgetfo two diferent acivity kvels.

Required

Computethe fullowing amounts. For variances, ndicae favorable or unfavrabl where approprit.
Answers should be rounded to two decimal places when nccessary.




[image: image3.png]The variable-overhead rate per machine hourin a flexible-budget formula. (Hine: Use the high-low
method 0 estimae cost behavior. In th High-low method ofcos cstimation th diference
beteen he cost evels athe igh and low aciviy levels i divided by the diflence becwecn the
high and low acrviey level. Tis Quotient provides a simple estimate ofhe vriable costae pe
unitof etviy)

“The standard fxed-overhead rate per machine hur used for product costing

The varible-overhead speading variance (Assume tht managemeat has determined ht the
actual fxed oveshead costin 2056 amounied 10 $324,000)

‘The varibie-overhead cliceney variance

The fxedoverhead et vaiance.

The fsed-oveshead volume variance. [Mak the same assumpion s s requirement (8)]

“The total budeted manofisturing cost in thousands of delar)fo s cutputof 6,050 units. (B
Use the flexible-budget formula)




